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> IA!)—2 R %8 maximum clique problem
> B|MJ 57 G=(V,E), REEV={1,2,...n}, RESBE, |Vl=n, |[E|=m
> D)= clique=VDERESE C T, FED2RBEICERIHLES

> B =)=V D>bERH (| B RKDEDZEKRH D

4 C=1{589.10)
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> %84 27 complement graph

> TI37DHI 7L, BROBEBEZANEZ=T 57
> 2DMT 57 G,=(V,,E),G,=(V,, E,) IZDUT,
> mREEEELC, 81k, v, =V,
PREERIE, |V|=|V,=n L TREEDPRILTEETFTK,=(V, E) &
EAZl-&E, E,=E,—E,

G,=(V,E) G,=(V, E))
V,=1{1,2,3,4,5 } V,=1{1,2,3,4,5 }
E,={(1,2), (1,4), (2,4), (2,5), (3,4), (3,5)} E,=1{(1,3), (1,5), (2,3), (4,5)}
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> J5M0)—=7 EFETITDEEES EORE&
> 027G, DV)=VCIEHIZTG, DEEEE S Oiu;&’; 77 DEmARY
L B B o J—HERDENBES L,
» 220737 G =V E). G = (Vo E) ISDWNT, e e e
> 557G, DI)—9 C={1,2 4 SERONITEL
>HII7 G, DRERE S=(1, 2, 4)

G,=(V,E,) G,=(V,, E,)
V,={1,2,3,4,5) V,={1,2,3,4,5)
E;={(1,2), (1,4), (2,4), (2,5), (3.4), (3,5)} E, = {(1,3), (1,9), (2,3), (4,5)}

C=1{1,2,4} S={1,2,4}



AV —UHEDsEL

> I AX!)—2E#E maximum clique problem
> |RIJS7G=(V,E), REGV={1,2,...,n}, RESE, |Vl=n, |[E=m
> )= clique=VDERESE C T, FEMRBITHELAHIES

> B =D)—0D5ERH || KMRRDIDZEKRDL

> 9V )—0TETIVIEHE ESH (ex1)
> SNST7HOURH9D
> HEIZSBTE7HIUMNIK
> HESBORAAREZEEL-L

» SNSTHOURRE =REE V={12,..9} %n=9
> HESE =%EE E={1,3),....(,)}

> 9)—) =fHBESBT7ho U

> B wmKRVV—V =MHESERERXTHOUrH
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> ex2) R A2 —VRRED=&EIL
> U LT 5T G=(V, E) TRIBEZESD (python/networkx ZF % FI| FH)
>RESDERYM|V|=15TE
>IREE EDEEZESITHKTE (0.0~1.0)




